
Bettis RTS Relay Board (RP4AF)
Electric Actuator

Installation, Operation and Maintenance Manual 
 VCIOM-15749-EN Rev. 1

August 2023



Notes
August 2023

Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

This page intentionally left blank.



Table of Contents
August 2023

Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

Table of Contents i

Table of Contents

Section 1:	 Tools
	 Tools.......................................................................................................................................1

Section 2:	 Material
	 Material.................................................................................................................................2

Section 3:	 Installation
	 Installation............................................................................................................................3

Section 4:	 Programming
	 Programming.......................................................................................................................7



Notes
August 2023

Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

This page intentionally left blank.



August 2023
Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

Tools

Section 1: Tools

1

Section 1:	Tools
	!WARNING

Remove all power supplies before doing the exchange. Act always with caution 
during the exchange!

•	 Needle nose pliers
•	 Screw driver phillips
•	 Screw driver flat
•	 Allen key 5
•	 Socket wrench 5

Figure 1.	



August 2023
Installation, Operation and Maintenance Manual

VCIOM-15749-EN Rev. 1

Material

Section 2: Material

2

Section 2:	Material
•	 1x relay board RP4AF (ID:15772)
•	 2x steel screw M3x16 (ID:952)
•	 3x plastic distance 8 mm (ID:9896)
•	 1x plastic screw M3x15 (ID:9895)
•	 1x plastic nut M3 (ID:7084)
•	 2x lock plates M3 red (ID:13674)

Figure 2.	  

Figure 3.	

 



August 2023
Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

Installation

Section 3: Installation

3

Section 3:	Installation
1.	 Unscrew the 4 hexagon socket screws from the cover and remove it carefully.  

Mind the connection cable between display and logic board.

Figure 4.	

2.	 Unscrew the 4 cross recessed screws from the existing logic board and afterwards 
tilt it carefully to you.

Figure 5.	  



August 2023
Installation, Operation and Maintenance Manual

VCIOM-15749-EN Rev. 1

Installation

Section 3: Installation

4

3.	 Remove the cable with the 10-pole connector and connect it with the  
relay board.

Figure 6.	  

4.	 Insert plastic screw M3x15 in provided hole and add plastic distance on it, 
after connect the relay board with the logic board on suitable connector.  
Add plastic nut on plastic screw to fix the board.

Figure 7.	  



August 2023
Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

Installation

Section 3: Installation

5

5.	 Put two plastic distances 8 mm between logic and relay board, insert the 
M3x16 steel screws through the estimated holes in logic board, plastic 
distances and relay board and secure the screws with the red lock plates.

Figure 8.	  

6.	 Install die logic + relay board back to the control (two small screws for  
original installation will remain). Take care of possible damage of cables or 
other parts.

Figure 9.	

 



August 2023
Installation, Operation and Maintenance Manual

VCIOM-15749-EN Rev. 1

Installation

Section 3: Installation

6

7.	 Connect cable between display cover and logic board. Perform a Firmware 
update now, before installing display cover on the unit. This update is 
important for the following programming steps (use FW version display 1507, 
logic 219 or higher). For a detailed description on how to perform a firmware 
update, please refer to separate manual.

	 During display cover installation, pay attention to the O-ring which must  
sit correctly between cover and housing and fix it with the 4 hexagon  
socket screws.

Figure 10.	  



August 2023
Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

Programming

Section 4: Programming

7

Section 4:	Programming
For programming, request download of SMARTTOOL2 software through your  
Sales Representative.

After the successful installation and registration, connect with the actuator.  
Use the Wizard and choose function "Uninstall Extension Kit" and press  
"Apply" (see Figure 11). Then, select item 4 from the list to uninstall “Standard Bin.
Outputs: 8x Standard Binary Outputs” (see Figure 12).

Figure 11.	  

Figure 12.	  

 



August 2023
Installation, Operation and Maintenance Manual

VCIOM-15749-EN Rev. 1

Programming

Section 4: Programming

8

Figure 13.	  

At the line "RP4AF: 4x Relay Outputs" press "Apply" and confirm the installation by  
pressing "Yes".

Figure 14.	  

 

After the successful uninstallation of the extension kit, use the Wizard and choose  
function "Install Extension Kit" and press "Apply".



August 2023
Installation, Operation and Maintenance Manual
VCIOM-15749-EN Rev. 1

Programming

Section 4: Programming

After installation press the "Refresh Button". In parameter group "10. Relay" you can 
define the functionality of the different relays from P10.17 to P10.24.

Figure 15.	  

9



www.emerson.com/bettis

VCIOM-15749-EN © 2023 Emerson. All rights reserved. 
 
The Emerson logo is a trademark and service mark of Emerson Electric Co. BettisTM is a mark of one of the Emerson family of companies. All other 
marks are property of their respective owners. 
 
The contents of this publication are presented for informational purposes only, and while every effort has been made to ensure their accuracy, 
they are not to be construed as warranties or guarantees, express or implied, regarding the products or services described herein or their use or 
applicability. All sales are governed by our terms and conditions, which are available upon request. We reserve the right to modify or improve the 
designs or specifications of such products at any time without notice.

https://www.emerson.com/en-us/automation/bettis?utm_source=bettis_us-web&utm_medium=vtye&utm_content=emrsn-com_bettis&utm_campaign=16gbettis-bettis01

	Tools
	Material
	Installation
	Programming

